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8,299 8,519 16,818 2,878 2,873 5,751 5,421 5,646 11,067 34.68 33.72 34.20
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8 T K 8 8 K e T R
FIRER 722 733 1,455 215 213 428 | BIRER 29.78 29.06 29.42
F2RERX 1,629 1,555 3,184 471 441 912 | E2RERX 28.91 28.36 28.64
EI/RER 285 285 570 103 81 184 ESBRERR 36.14 28.42 32.28
FARRER 2,156 2,168 4,324 790 780 1,670 | HABRERER 36.64 35.98 36.31
ESHRERX 1,301 1,484 2,785 520 582 1,102 HS5/ERX 39.97 39.22 39.57
FEORRER 1,060 1,119 2,179 435 430 865 | EOIRER 41.04 38.43 39.70
FTRER 876 935 1,811 260 281 541 | B7RER 29.68 30.05 29.87
ESRER 270 240 510 84 65 149 ESBERRX 31.11 27.08 29.22
=1 8,299 8,519 16,818 2,878 2,873 5,751 =1} 34.68 33.72 34.20
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F1IRER 167 158 325 47 55 102] FIRER 1 0 1
F2RER 313 301 614 152 138 290 | FE2RER 6 2 8
EI/RER 82 68 150 21 12 33| FEIWER 0 1 1
FARERX 599 563 1,162 189 214 403 | HFAEBRER 2 3 5
ESHRERX 384 414 798 133 166 299 FEEHRER 3 2 5
FEORRER 337 334 671 95 94 189 | F6ERER 3 2 5
FIRER 167 182 349 90 96 186 | F7HRERX 3 3 6
ESRER 70 50 120 14 15 29| ESIRERX 0 0 0
S 2,119 2,070 4,189 741 790 1,531 &E 18 13 31




